Corverting units by

Area of a pardlelogram
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im = 100 cm 1km = 1000 m 11 = 1000 mi . A=3X%10x6
136 x 100 = 1860 136 x 1000 = 13600 13600 = 1000 = 136 . =30cm? Vedxdxd
so 136m = 1360cm so 13,600ml = 136iitres i =16 % 4
1em = 10 wim When corverting from a larger unit 1kg=10004g A f ;g;,g_ 2 4cm =64cm’
136 % 10 = 136 to a smaller unit, multiply because 1360 + 1000 = 136 = Aom
so 136cm = 136 there wil be more of them so 1360g = 1 36kg - )T N
Year 6 Term 4
— 3 green for every 2 yellow L Buying a mug costs £8 for
: OOOOO the mug plus £4 per colour.
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Find 10% of 240 a=2 b=4 OO00000
19 48 Colin and Coco share €60 a=3 b=3 OOO0000
2 Coco gets 3 x more than Colin.
= m: idima o a=4 b=2 QOO0000
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, 20 24 solpart=60+4 =18 _ P
60 50% 1 48 So Colin gets £15 r ] = @@
25% % and Coco gets £15 % 3 = £45 B O S
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